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8. A nonconducting sphere (3% %8) of radius R has a cavity of radius a at its center, as
shown below. The rest of the sphere has a uniform charge density p C/m?® What
is the electric field in the region of a<r<R? (10 #)
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9. Arrod of length L has a charge Q uniformly distributed along its length. Find the
electric potential at a distance a from one end, along the axis of the rod, as shown
below. (10 )
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10. A conducting rod (length 1=15 cm, mass m=100 g) parallel to the z-axis lies on a
plane inclined at 37° to the x-z plane, as shown below. A current enters and leaves
the rod via light flexible wires which we ignore. For what current (magnitude and

direction) will the rod be in equilibrium in a magnetic field B=0.25] T.(10 4)
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